Example 3. Find symmetric equations for the line through (2, -1,1) and perpendicular to both # = (1,0,1) and
¥ = (-1,1,0).

Equations of a line in 3D are not unique
e We can use any point on the line as the starting point Py = (xo, ¥0,20)

e We can also use any vector parallel to the line as the direction vector v = (a, b, ¢)

Example 4. In Example 2, we considered a line that passes through the point (2, 4, 3) and is parallel to the vector
i—2j+4k.

a. Using a different point, find another set of parametric equations for this line.
b. Using a different direction vector, find another set of parametric equations for this line.
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